0. of Printed Pages : 80
ota] No. of Questions : 510
uestions to be answered : 150

Question Booklet Sl. No.

SET :@

ime : 2 Hours 30 Minutes ‘ Full Marks : 150

oll'No.. (in figures):

(in words) : _
date of Exam.

“entre Name

“entre Code

PLEASE READ THE: INSTRUCTION PRINTED (0)\] THE
' “'BACK.OF: THIS BOOKLET '

The candidates are requn‘cd to answer all the Sections in the OMR Answer Sheet.

This Booklet is to be taken away by the candidates after examination 1s over
and the OMR Answer Sheet to be handed over to the Invigilator(s) concerned.

THIS BOOKLE’I'= CONTAIN S 10]0)1 SECTIONS

{SECTIONZITO V)

SECTIONS | SUBJECTS NO. OF QUESTIONS | FULL MARKS
A: Section-1 ~ Odia (Compulsory for all Streams) 1-20=20 20
A Section-II English (Compulsory for all Streams) 21-40=20 20
B: Section-III Optional (any one group/subject to
be chosen) iy
Arts: Odia + English + History & 4120069 60

Political Science+ Geography & Economics

Science (PCM) : Physics + Chemistry +

Mathematics 41-100=60 60
Science (CBZ): Chemistry + Botany +

Zoology . | 41-100=60 60
Classical Sanskrit 41-100=60 60
Urdu 41-100=60 60
Telugu ' : : 41-100=60 60
Hindi | 41-100=60 60

C:Section-IV | Compulsory for all streams: - :

Child Development, Pedagogy, School 101-150=50 . 50

Management & Evaluation




[ A-SECTION-T |

jobnewsodisha.co
gee uQeRed €loel 44 (!° 1 § 5 adie)

géea aae I8 :

AR IS AAIERICR RIANAAIFER AR,

F69T4! G ANBR ACANNER 6FINN0IA IQIS 26

QAR 2ICAY RRAIB 1 6090 B 6 AP ASR
6ARRR Q6 B FINUIRIG AR FARE @61, 630
6F1RR0IQ FQI8 ALR §6SL | 6A0IER GGIQETRAIE
ARIQE QG4 62UQ @2l | NINERTER UCKRIAER
QI2IF AT | 3¢ AP} ARG A, ARG, *RI G
R 62 QYRR QIR ACRAEL, NIQIYQ Al 1R
Q8 QIRRYNa RGQ dIal AN RIBAIRE YRIER
QAR QP AIFINY | ARIR @0 QAUFER CARAVAY
aaiad 2Fe F0Re 9199 A8 Grde 9
ICQUOR! FER Y2 24 62IR R0 | AT AT,
claee, 687a QIER, eas, ¢ @ od 6 claq
del aidel, Gl @ 6AIeR, aR6IF, EAIEHR,
QERER Ol 6 A 98 GIe 6 98I I26; AY
6Red RIeeeda Geq eeIeR ?. AEA AN ANG
6 @°qf FIAca - ceaaiq Ag cad a°qFe
89y AN EAING RS 6 gRR FAIQ FeNG!
Ql AL P6ARI 6RIR F6E, olgl an ARAIR 9@
QEQY CRIF AAY 6Q6Q6R6M 6gAdl 624,

AWANGR geaier @89 eIRIa ARy Addee @l |

1.

L'CE)‘DIA (COMPULSORY) |

2161 @3B @9l 2968 9 T QL ?
7 (A) ednge 2161
(By Uo1e A5

(Oi/éﬁamal

(Qu 901990

2. 8§ I3dq '8 AURER AR 6L ?

@/ (A) ad

3.

4.

rP

(B) @de
(C) @R
(D) QIge g9l gRINRIRT @9

2T YOS ABey BaG.?
(A) QesiaeaIal
. (B) Q6QI6RAIN Q6L
() 6gael Qi

(D) gecale

dIflIoY QAICRTIAIER QAUQNAILFOIER
R 2N VY QG ?

(A)%IQ%@Q@IQ

(B) €OIgaYReIR
(©) 6Mdeoq vd
(D) wuiieea




wn

cQMA ?

(A)” G0IReR6!
(B) eclR@e
(C) QTG

(D) 6560

6. QRA1 Y’ 98Q QI6Q, FgUE &’ aeq QIR

24 | - 921 691 gRIQ QI ?

(A) '/ssz‘ﬂag

i -
By~ 869

(C) Qae

(D) @9

7. ——agf g G RICC 461 - wa6a ‘aQ’ 6aal
S0 ae ?

(A) &eaay v

(B) Q6894

(C@%é@lﬂ

(D) 2eya

‘Fada’ - 92l 609 A 7R 9@ ?

9" ' 0gqr®

G‘ﬂ I
(_C)_/ 00gas
D) {9

RAQIT RFORUIAQIER ARIIAEEE @&

‘ACIRCI 5’ q@a Ad @'a ?
(A) @adRy
(B) 64163 160

(C) <al adga

(D) 26 gaal

jobnewsodisha.com

10.

<

11.

12.

76019 92qFe AMIQ 62a6 ‘Y geid
99 ?

AY aey
(B) 6G6Y
(C)./ 65y

(D) 63y

g8 AQ5q QI :
(A)X e

(B) @@l

©) euevsl

(D) QiQa "f/'

Qde 641y - AN AT @4 ?

(A) zagqa
(By” 2gq@
(C) =g

(D) géqa




13. QR FUQI QINGY QI .

(A) 6Q CUAINY ARINGE ARG Ferde
Q6R |

2 (B) 6167 €0 §9q cOFRIACH Ay
6291 80 aGgeR |
(P BRIgRIR Qiel 9139 asiata and Qe
24 |

(D) SRAAAIRG A8A SaSIale! AaeIa 92
SLIRRIAIR AQa3 |

N

14. ‘ane1a’ 998 6RW Q6. 99IA QIal 606 ?
Y@ e

(B) udfa
0o
(D) g1

15. QOIF 0aQl a6

6ad 6962 ARG aT-96a |

- Q266/60R ARSI Q88 ?

(C) 699
(DY @esgsl

16. 57 goa 60qGe ANYY 696 496a QIRIGe
Y Qe ‘@’ a@d ?

o gos

(B) daque

C) &dda

(D)/ a9q

>

i - caMIEe 995
17. ¢Aad 96 60l caml | - 69

v RN daE 7

(Ay” agen

(B) @Bl

©) gael

() oo
jobnewsodisha.com
18. Q6q Q64 960Q AQLI- QALER

Q6m A9 AR da 6RIR @ AIF6R | - q2J6Q
6oul ARG 99D 7

(Ay” @agl
(B) eq9
(C)r 2919
(D) @osgal

70

19. ‘a0 ¢19el’ 9FF 6adl zdea gede ?
(A) Q@Ql

(B98Il SRS

(C) @uea 9§ edq

\ 2y

(D) @26 egeca @ad

20. 6910 caIRQ 9519? AQUICRR | - 6QQlIFe aQg
6R% QIR Q) ?

(A)/GQQSQIMQ
(B) @I QIoq
(C) fa0 eqlug
(DY Ged gee




21.

22,

( A-SECTION-1I )

[ENGLISH (COMPULSORY) |

He turned my proposal.

(Fill in the blank with the correct
alternative)

(A) out
B) down ~
(G off
(Dlé’ up
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It since 8 O’clock in the

morning.

(Fill in the blank with the correct
alternative) o

(A)~ is raining
(B) had rained
(C) has been raining \,/

(D) rained

Which letter is silent in ‘autumn’ ?

(A) m

® n

© t

(D) a

24.

)0

25.

26.

Va
» (g)

If he studied hard, he
division.

the first

(Complete the sentence choosing the
correct alternative)

(A) will secure
(B) will have secured _
~

(G}“/ would have secured

(D}/would secure /

The Principal and Secretary
present at the meeting yesterday.

(Fill in the blank choosirig the correct
alternative)

The word “debt is pronounced as

(meit/
/det/
(& /dait/

(D) /debt/ Pl
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~q

28.

29,

He paid the dues cheque,

(Fill in the blank with the correct

(A)f’in

(B by .

(C) on

(DY with
jobnewsodisha.com

The diet is in calcium,

(Fill in the blank with the correct
alternative)

A@Aeﬁaemt

(B)/deficiency
(C) deficit

(D) deficiently

They--made—her chairman "6f the
committee.

If the above sentence is changed into
passive voice, it will be

(A)

She is made chairman of the
committee. '

(B) She was chairman made by the

committee.

(C) She was made chairman of the
committee.

(D)~"The chairman was made by them.

iation of
30, Which is the correct pronunciati

-

v~ ‘passed’ ?
(A) /past/
(B /pa:sd/
@ /passt/

(D) /pa:stt/

Read the passage given below and answer
the questions that follow choosing the correct

alternatives given.

“Eat the right amount of the right food at
the right time” is a food rule for everybody.
Those who follow it usually notice the benefit
in greater physical and mental efficiency, and
more stamina and vigour. They add years to
their life as well as vitality to their years.

Our body is the most wonderful engine
of all, because it builds and repairs itself, It
needs fuel, lubricants and other materials
which we call food or nutrition, and this food
should consist of minerals, carbohydrates,
vitamins, fats and proteins.

31. What is regarded as the most wonderful
\L- engine?

(A) Our mind
(B Our body
(C) Our heart

(D) Our life



32.

33

*J

34.

What should be followed for the benefit

of greater physical and mental

efficiency ?

@ Fuod rule

(B) Instructions of the expert
(©) Body's rule

(D) Body-building rules

What is considered fuel or lubricant for
the body ?

(©) Rule
(D) Efficiency ‘
j obnewsodisha.com

The food rule is that one has to eat the
right amount of the right food at
(A) all times

(B) night

©

(D){right time |

lunch

35. The antonym of
<7 (A) sufficiency
(By~ deficient
(C) inefficiency
(D) unefficiency

‘efficiency’ " is

Read the poem carefully and answer the

questions that follow choosing correct

alternatives.
The rose that smiles today,
Though beautiful and gay

Will shortly fade away

The mountains looming high
That seem to kiss the sky,

Will some day crumbled lie.

The rolling oceans wide,
One thinks will e’er abide
Will once be emptied, dried.
The earth so firm and vast,
Today that rolls so fast,

Will cease to be at last.




alns ¢
Fach sar o SITInG BrighS 38. What will happen to the mountains on
) day ?
That meets thy wondering sight, P
(A) They will fade away.
Will one day lose its light.
(B) They will lie crumbled.

1 » i 'd.
Then midst thy gricf be gay, (C) They will be emptie

For long it will not stay, (B}/They will kiss the sky.

That too will pass away.

36. Which will be emptied and dried ? 39. The final message of the poet is that
vy | everything

(A) The mountains
(A will pass away
(B) The earth
(B) isgodly

(C) The rose
(C) is permanent
(DJ/Ihe oceans
i . D) is unchangeabl
jobnewsodisha.com a geable
37. The expression ‘That’ used in the last line _
., Ofthepoemrefersto . 40. The rose is described as
V- -
(A) beauty (A) beautiful and grave
(B)_~grief (B) grave and gay
(C) the rose (C) beautiful and bright

(D) the mountains (@/l;eautiful and gay
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42,

(B - SECTION - 111 )

SCIENCE (PCM)

PHYSICS

A projectile is fired from the ground level | 43.
with a speed of 18 m/s at an angle of 60°
with the horizontal. After 1 second, a
second projectile is fired from the same
place with a speed of 10 m/s at an angle
45° with the horizontal. When both the
projectiles are in flight, the relative
acceleration of the second projectile with
respect to the first is :

(A) 16 m/s?

(B) 56 m/s?

(C) —56 m/s?

(D) zero “
jobnewsodisha.com

The torqiié about the point O(3, —1) of a

force F (2, 4) N on a plane X-Y passing
through the point A5, 2)is:

(the co-ordinates of the point O and A
are in meter)

A
(A) 2k Nm 45.
() -2k Nam
©) 14k Nm

(D) -14 k N.m

s at distance ‘a’ from the sun

A planet i
pran nis T yrs.

and its time period of revolutio
a

The planet suddenly cames to distance 5
closer to the sun. The new time period of
revolution is :

T
(A) 5 yrs

T
(B) 575 yrs

(C) 2 Tyrs
(D) 2v2 Tyrs

A transverse wave of frequency 16 Hz
travels along a straight string. Two points
4 m apart along the string have a phase
difference of 120°. The wavelength of the
travelling wave is :

(A) 4m

® 5 m

(C) 64m
(D) 12m

The focal length of a convex lens is 20 cm.
The minimum distance between an object
and its real image formed by the lens is :

(A) 40 cm
(B) 80 cm
(C) 60 cm
(D) 20 cm




46.

47.

(©

A bat at rest sends out ultrasonic sound
waves at 34 kHz and receives them
returned from the object. If the bat is
moving away from the object at 5 m/s
and the velocity of sound is 335 m/s,
what is the apparent frequency heard by

the bat ?

(A) 33 kHz

(B) 60 kHz

(C) 32 kHz

(D) 75 kHz

48. The capacitance of a spherical liquid drop
is 2 pF. One thousand such identical
drops coalesce to form a large single

spherical drop. The capacitance of the
large drop is :

(A) 2000 wF
(B) 500 wF
(C) 20 uF

(D) 2uF

jobnewsodisha.com

The length of a wire of uniform
cross-section changes from L, to L, when
the tensile force on it changes from T, to
T,. The relaxed length of the wire is :

A) 5@ +Ly)

: LT+l Ty
(B) T1 + T2
LiTh+L, Ty

VI T,

49. An air bubble of radius ‘r doubles its

vadius as it rises from a depth ‘h’ to the
l‘_,asrfa'cé of the lake at a constant
teriperature. If the atmospheric pressure
is equal to 10 m height of the water

column, neglecting surface tension the
value of ‘h’ is :

(A) 90 m
(B) 70 m
(€) 60m

(D) None of these
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51.

A concave mirror of focal length 10 cm
and a convex mirror of (ocal length
15 cm are placed facing cach other 40 cm
apart. A point object is placed between
the mirrors on their common axis at a
distance of 15 cm from the concave
mirror. Find the position of the image
produced by the successive reflections,
first at the concave mirror and then at the
convex mirror.

(A) 6 cm behind the convex mirror

(B) 4.28 cm behind the convex mirror

(C) 6 cm infront of the convex mirror
(D) 4.28 cminfront of the cohvex mirror
jobnewsodisha.com

One mole of an ideal monatomic gas

requires 210 J heat to raise its temperature,
by 10 K when heated at constant
pressure. If the same gas is heated at
constant volume to raise the temperature

by the same amount, the heat required

is :
(A) 108.7 ]
(B) 1153 ]
(€ 129]
(D) 126]

52.

53.

54.

The equivalent capacitance between the

points P and Q in the circuit given below
iS:

10 puF

—
P e = TQ

10 wF| 10 pF :
1
10 wF
(A) 40 pF
(B) zero
(C) 0.1 puF
(D) 10 pF

In an astronomical telescope, the power
of the objective is 0.5 D and that of the
eye piece is 20 D. The magnifying power
of the telescope is :

(A) 10
(B) 100
(C) 35
(D) 40

A geostationfary satellite revolves around

the earth :
(A) in an orbit whose plane passes
through the north pole and the
south pole of the earth.

(B) twice in 24 hours.

(C) at an altitude of about 200 km
- above the surface of the earth.
(D) in an orbit whose plahe passes-

through the equator of the earth.
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57.

A body is dropped from rest, while at the
same instant a second body is thrown
downwards with an initial velocity of
1 m/s. When will the distance between
them be 18 m ?

(A) 3s
(B) 18
(C) 18s
(D) 12s
jobnewsodisha.com

The maximum current I which can pass
through a fuse wire of circular cross-

section without melting it varies with its
radius ‘r’ as :

(A) T=xr
(B) I = r3/2
C) Ixir2
1
(D) I« =

Anideal transformer is used on 220 V line
to deliver 2 A at 110 V. The current
through the primary is :

(A) 10 A
(B) 5A
© 1A

(D) 01A

58.

59.

60.

e
In a given electrical circuit, a 10 €) resistor
is parallel to a 5 Q resistor. The ratio of
the heat produced in the first resistor to
that in the second resistor is :

(A) 1:2
(B) 2:1
C) 1:4
(D) 4:1

In a series LCR circuit, the voltage across
each resistor, inductor and capacitor is
10 volt. If the resistance is short circuited,
the current in the circuit becomes :

(A) Zero
(B) Very large
G 10A

(D) 5A

‘Which of the following is a unit of self

inductance ?

(A) weber per ampere

(B) volt second per ampere
(C) joule per ampere

(D) ohm second
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( B - SECTION - III |

SCIENCE (PCM)

CHEMISTRY

In a vessel 4 g of 0O,,4 g of H,, 4 g of N, 64.

and 4 g of Cl, are present. Which of these
gases has highest number of atoms ?

(A) O
(B) H,
© N,
D) Cl,

65.

Which of the following aqueous solution
will have highest elevation of boiling
point ?

(A) 1M NaOH
(B) 1M Na,S0,
(©) 1M NH,NO,
(D) 1M KNO3
jobnewso disha.com

The quantum numbers n and 1 for four
electrons are given below.

(i) n=4,1=1

(i) n=4,1=0

(i) n=3,1=2

(iv) n=3,1=1 |

The order of their energy from lowest to
highest is :

(A) (i) < (i) < (v) < @)

(B) (i) < (i) < (iii) < (iv)

(©) (i) < (iv) < (i) < (i)

(D) _(iv) < (i) < (iif) < (1)

66.

67.

When two ice cubes are pressed ovevrvelefci
other, they unite to form one cube.d hlc
of the force is responsible to hold them

to&ether ? |
(A) Hydrogen bond formation

(B) van der Waal's forces

(C) Covalent attraction

(D) Tonic interaction

The ;.rolume of carbon dioxide gas at NTP
obtained by heating 4.2 g of MgCO,
would be :

(At. mass of Mg=24, O=16, C=12)

(A) 224 litres

(B) 11.2 litres

(C) 1.12 litres

(D) 2.24 litres

The de-Broglie wavelength of a particle
of mass 0.001 kg and moving with
velocity 100 m/s is given by :

(A) 6.62x1073 m

(B) 6.62x10~33 m

(C) 6.62%x10=35m

(D) 6.62x10"32

Nitrogen gas is keptin a1 litre flask under
100 kPa pressure and oxygen gas is kept
in another 3 litre flask under 320 kPa
pressure. If the two flasks are connected

the resultant pressure of the mixture of
gases will be :

(A) 310 kPa
(B) 210 kPa
(C) 365 kPa
(D) 265 kPa




68. The element having which of the  72. Find the concentration of HCl if 10 ml of
following electronic configuration will 0.5 M Ca(OH), solution is required to
have highest ionization energy ? titrate 50 ml of HCl till the neutralization

oint.
(A) [Ne] 3s° 3p! P
(A) 5M
(B) [Ne] 3s?3p3
1
(C) [Ne] 3s2 3p2 ® oM
(D) [Ne] 3s? 3p* (C) 10M

69. The shape of NH, molecule and (D) 5.
hybridisation of the central atom of NH3
molecufe is :

73. In the reaction
&) Uiearaiep = - PCls(g) = PCla(g) + Clp(g) .  the
(B) Trigonal planar and sp? equilibrium concentration of PCl; and
() Pyramidal and 5P3 PCl; are 0.4 and 0.2 If’lole/ litre
: respectively. If the value of K is 0.5, what
/(D) Tetrahedral and sp? is the concentration of Cl, in mole/litre ?
- (A) 2.0

70. The outermost electronic configuration of L5

most electronegative elements is : B 4

' S 1.0
(A) ns®np’
(D) 0.5 o
(B) ns®npt
o )obnewso disha.com

(€) ns®np 74. When copper pyrite is roasted in excess
(D) ns? np®

71. The oxidation number of sulphur in
Sg, SoF, and H,S respectively are :

(A) +2, +1, -2
B) -2, +1, -2
© 0, +1, +2
(D) 0, +1, -2

-of :air,.a' mixture, of CuO and FeO is

«ormed, FeO is present as impurity. This
can be removed as slag during reduction
of CuO to Cu. The flux that is added to

form the slag is :
(A) SiO,, which is an acidic flux

(B) Limestone, which is a basic flux
' \

(C) SiO,, which is a basic flux

(D) CaO, which is a basic flux




75.

76.

77.

At 90°C, pure water  has
[I-I_=.,O+]=10_6 M. What is the value of
K,, at this temperature ?

(A) 10-6
(B) 10-12
©

(D)

10—13

10—14

The IUPAC name of which of the
following compounds is wrong ?
(A) CH,CH,CH,COOCH,CH; —
Ethyl butanoate
(B) CHy~CH- CH,CHO —
CHj3
3-Methyl butanal
(&) CH3—(|:H—(IZH-—CH3 —
OH CHj
2-Methyl butan-3-ol

(D) CH3—§H-ﬁ—CH2_-CH3 -
~ CH3 O .
2-Methyl propan-3-one -

Anti-Markownikoff's-addition of HBr in
presence of an organic peroxide is not

observed in :
(A) Propene
(B) But-1-ene
(C) But-2-ene
(D) Pent-2-ene

78.

What will be the product of the following

reaction 7

OH

_E{E,CL——-—) ?
Anh. AICI;

m-hydroxy toluene

(A)
(B) m-chlorophenol
©) o-chlorophenol and p-chlorophenol

(D) o-hydroxy toluene and p-hydroxy

toluene
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79.

80.

The order of ‘décreasing stability of the
following carbanions is:

(i) (CH;)5C°

(i) (CH,),CH®

CH,CH3

CgHsCHS

0> (i) > ) > @v)
(B)  (iv) > (iii) > (ii) > (i)
(C)  (iv) > (id) > (i) > (iii)

(O > @) > @) > (i)

Which method of purification is
represented by the following equations ?

Ti(s) + 21, (g)ﬁﬁ_ﬂﬂ‘l (g)—_ 100K

Ti(s) + 21>(g)

(A) Cupellation

(B) Poling

(C) Zone refining

(D) Van Arkel Method
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83.

84,

B - SECTION - IIT

SCIENCE (PCM)

| MATHEMATICS

Let U be the universal set and
AVBUC=U. Then {(A-B)u (B-C)u
(C—A)})' is equal to :

(A) AuBuUC

B Au(BnC)

C) AnBnC

(D) An(BUCQ

If « and B are the roots of the equation
x2—k(x+1)—c=0,

the value of
(x+1) (B+1) is:equalttor: - .i.
(A) 1
(B) k=xc
© 1-c
(D) 1+c¢

Let f: R = R be defined as f(x)=x%.

Choose the correct option from the

following :

(A) f is one-one onto

(B) fis many-one onto

(©) fis one-one but not onto

(D) ~f is neither-one-one-nor.onto

.. jobnewsodisha.com
ut’or tour inregers, any cnrée were

randomly taken at a time and added. The

results were found to be 174, 193, 267 and

242. Which of the following integers is

the greatest among these four ?

(A) 118

(B) 127

S 99

(D) 123

85.

86.

87.

Let R be the relation in the set N given by
R={(a,b):a=b-2,b > 6}, then:

(A) (2 4) eR
B) (3,8)€R
(C) (6 8) R
(D) @ 7) eR

The interval in which y=2x%e~% is
increasing is :

(A) (=&, o)
(B) (=2,0).
© (@2 =)
(D) (0,2)

The terms of a G.P. are all positive and
each term of it is equal to the sum of the

next two following terms. Find its
common ratio.

1
A
®) J§2+1

1
© 1475
D) _@2—1
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89.

90.

91.

What will be the common difference of
the arithmetic progression, whose sum of
first m terms is given by 2(m?+3m) ?
A) 12

B) 10

€ 9

(D) 4

The total revenue in rupees received from
the sale of x units of a product is given by
R(x)=3x2+36x+5. The marginal
revenue, when x=15is :

(A) 90

B) 96

(C) 116

(Dv 126

A-moricid is called a group if
(A) (a*a)=a=(a+c)

(B) (a*c)=(a+q)

(©) (at+c)=a

(D) (a*c)= (c*a)=e

) x+2 _y—-1_ z
If the lines T 1 n ~18 and

x _y+1 _z=1 are parallel to

-3 5p-3 6
each other then the value of the pair

(A p)is:

te 4 lies on

the points
Find the

ith x Co-ordina

92. A point R W ‘
t j()il‘lmﬂ

the line .-m;;munl
P2, -3 4) and Q5

Co-ordinate of the point R.

(A) (20 —4)
B) 4 —26)
© (426
o 6 -27

Two students A and B appeared in an

examination. The probability that A will
qualify the ex{aﬁxii'lation is 0.05 and that
B will qualify the examination is 0.1. The
probability that both will qualify the
examination is 0.02. Find the probability
that both A and B will not qualify the

examination.

93.

(A) 0.11
(B) 0.15
(C) 0.87
(D) 0.98

jobnewso disha.com

94, The variance of 20 observations is 5. If
each observation is multiplied by 2, find

1
(A) (__ 2, 5) the variance of the resulﬁng observations
1 A) 10
® (> =3 o
1 (B) 20
2, =
© (23 (© 40
D
(D) Cannot be found (D) 5




95.

96.

97.

A circle of radius 5 units touches the
Co-ordinate axes in the first quadrant. If
the circle makes one complete roll on
x-axis along the positive direction of
x-axis, find its equation in new position.

(A) **+(y—5)2=52
(B) x*+{y—(5+10m)2=52
©) {&x-(B+10m)2+(y-5)2=52

(D) {x+(5-10m))2+y2=52

A cylinder is of height 31¢m and base
radius 7 cm. A hemisphere of radius
equal to base radius of cylinder is cutoff
from one end and a cone of maximum
height from remaining part is also cutoff.

The curved surface area of the remaining
part is :

(A) 506 cm?2
(B) 508 cm?
(C) 510 cm?
(D) 512 cm?

What is the value of 1= cos?a—cos?a, if
sina+ sin2a=1 ?

(A) 0
B) 1
©) 2

(D) -1

N—/

98. If aa and B are the solutions of
acosf + bsinf =c, then what will be the
value of sina.sin ?

N =

&) 732

B a2 +c2

\ ) a2 — b2

c 2 -a?

Q =7

(D) 1

jobnewsodisha.com

99." : The radius of a cylindrical container is
14 cm and height is 5 cm. By how many
centimeters should the radius or the
height be increased, so that the increase
in volume becomes the same (not zero) in
either case ?

(A) 94 cm

(B) 9.8 cm .

(C) 104 cm

(D) 11.2 ecm
1 sin@ 1

100. Let A = |-sind 1 sinf|, where

-1 -—sinf 1

0<x<2m, then:

(A) Det A=0

(B) Det Ae[2, 4]
(C) DetAbelongsto (1,4
(D) None of these




—

C - SECTION - IV )

CHILD DEVELOPMENT, PEDAGOGY,

SCHOOL MANAGEMENT & EVALUATIOI\J

101. Which of the following is not a

characteristics  of learner-centric

learning ?

(A) Teacher and students evaluate

@

(C) Approach is compatible with

learning together. -

Teaching leads to increase student
learning and long-term retention.™

interdisciplinary investigation.
(D) Emphasis is on communicating
knowledge effectively. *

102. Who said curriculum is a written plan ?

(A) Ragan
(B) | Tylor
(©) Albert

(D) Smith, Stanley an-

103. The following statements are the function

of SMC except :
(A).

/(B)

©)

Review coverage of courses/studies.

Supervise the daily instructional
activities.
Intimate the PTA and the District

‘Officer about the grants received
and utilisation thereof.

(D) Monitor the identification and

enrolment of and facilities for
learning by disabled children.

104.

To maximize the return on investment
from the organisation’s human capital
and minimize financial risk is the
objective of :

(A) Physical Resources

: (B)ﬁ ‘Human Resources

105.

106.

(C) Financial Resources

(D) Community 'Resources

A child is talking with his friend and says,
“Mine is gooder”. Which theory of
languagé acquisition best explains the use
of “gooder” ?

(A) Skinner theory

(B)
(C) Noam Chomsky’s theory
( D)_;Lf None of the above theory

Social cognitive theory

She R
JB'Bnm-vscv disha.com

According to Socio-cultural theory of
Vygotsky :

(A) The child thinks in different
domains does not take a complete

perspective.
/

(B)) Culture and language play a crucial
role in development.

(C) Children think in abstract terms if
presented abstract material at a
lower age.

(D) Self-directed speech is the lowest

stage of the scaffold.




107. “The need and purpose of educational

management is to enable the right pupils
to receive the right education from the

right teachers.” - who said it ?

- (A)  Graham Balfour

IB) Kandel
(C) J].B. Thomas
(D) Shelly Umans
108. Which ﬂ}gory"éf concept learning use the
characteristics of concepts to define
them ?
(A) Prototype theory
ﬁ Rule-Driven theory
(C) Exemplar theory
(D) Both (A) and (C)
jobnewsodisha.com

109.

theory of moral development, at which

stage, people make decisi
loyalty, living upto the expectations of
others and social conventions :

(A) Social Contract
Interpersonal Harmony
(C) Universal Principles

(D) Law and Order

According to Lawrence Kohlberg's

ons based on

110. Which of the following Sternberg’s theory
of intelligence focuses on academic

prnfi(‘iuncy ?

f’/ (N) _Cnmpununtial sub-theory

\\.
_—

( Bi Experimen tal sub-theory

(@) Contextual sub-theory

(D) All of the above

111. In which stage of cognitive development

a child can think logically about objects ?
(A) Sensori-motor
(B)

©

Pre-operational
Concrete operational

‘ (D) Formal operational

112. Riyu is a tenth class student in your

history class. She seems to have a good
understanding of the content, that is, she

can recite for you the dates and places of

the events you have covered in class.

- However, when you ask the class to
 défend a point, she often uses the wrong
information to support her points. Riyu

.. most likely needs help in increasing her

(A) * Prior Knowledge
(B) .Procedural Knowledge

(C) Declarative Knowledge
m Conditional Knowledge

T



113.

114.

[15.

The degree to which an assessment
actually meagyres what it is gy

Pposed to
measure is known ag -
(A) Validity
(B) Reliability
©) Practicality
(D) Ethics

Iearning

(A) 1Is dictateq by the teacher and the
students are Passive recipient of the
same

(B) Happens by pairing of stimulus and
a response |

© Is offering of reinforcement by the

X teacher
(D)} Is cons'_tx_u.c_tgd:bx_.the..stu,d.ents__..__
L

themselves who Play an active role

The teacher can utilize both ‘assessment
for learning’ and “assessment of learning’
to: _
(A) Monitor children’s progress and set
appropriate goals to fill their
learning gaps.

(;33 Know children’s progress and

" achievement level.

(C©) Know learning needs of child and
select teaching strategy accordingly.

(D) Assess children’s performance at

periodic intervals and certify his/
her performance.,

(A) Grades
; L
" (B) Marks

(C) Portfolios
(D) .Both (A) and (B)

jobnewsodisha.com

117. “To provide a common platform for the
- state and the centre to share their views
about improving educationa] standards.”

-is one of the objectives of ;

(A) NCERT
(B) CET

)’ CABE
(D) NIEPA

118. In learning, assessment s essential for :
(A) Grades ang marks
(B) Screening test

@ Motivation

(D) Fostering the purpose of segregation
and ranking )



119. Who believed that every person could

achieve their goals, wishes and desires in
life, when or rather if they did so, self
actualisation took place ?

(A) Jean Piaget
" (B) ..: Carl Rogers

Nt
(C) Erik Erikson

(D) Robert J. Sternberg

120. “Leadership motivates the people to work

and not the power of money”. This
concept is related to :

(A) Supportive model
4 ?l;;; Custodial model
N/

(C) Autocratic model

(D) Collegial model

121. Accbrding to 1{§yé'l;lologist Adams, the
learning and forgetting is :

(A) Forgetting means failure atany time

to recall
(B) Forg_efting is failing to retain

(C) Forgetfulness is voluntary

122. Which component represent the actual

mental processes used for the execution

of a task like task perception, concept

ing ?
identification and response making,

(A) Meta component

(B) Component sub-theory

| '(C) * Performance component

(D) Knowledge acquisition components

jobnewsodisha.com

123. The benefits of formative assessment

include all of the following except :

(A) Guides teachers in deciding what
they “need to do tomorrow” in

~terms of instruction

L e

M
\(E)B Provides various scores for teachers

to average into a grade

(C)  Gives teachers the opportunity to
make immediate adjustments in
. their instruction

(D) Provides feedback to help students
adjust and improve their
performance

@ ‘True learning is judicious forgetting



124. Which approach of management stands

for the function of elimination of waste
in all forms ?

. (A)  Gist benefit approach
\
(B) Manpower approach

(©)  Social justice approach

(D) None of the above

125. The followings are the characteristics of

self learning except :

(A) Can fulfill the needs of the student

(B) The Programmed instruction
method reduces the problems of the
group learning

(C) Stimulus - Response in this method
. Mmotivate the students

None of these

126. Why might a teacher chose to use an

analytic rubric for his/her students oral
presentation ?

(A) Because he/she wants to judge the
presentation as a whole

(B) Because he/she wants to use a
rubric that can be created quickly

)
(EZ), To give the students specific
" feedback
D) T de th tation quickl
(D) To grade e presentation quickly

SET -

127. The first column for which matc
made is called as :

hing is
(A) Option

; (B) . Premises
".(-C) Responses
(D) Direction

128. The following are the characteristics of

mental development in adolescence
except :

(A)" Ability of problem solving
(B)  Self-criticism and evaluation

.J(C)-_' Symbolic and pre-

conceptual
thought

(D) Increased rational self-control

jobnewsodisha.com

129. Who viewed intelligence as how well an
individual dealg with environmenta]
changes throughout their life span ?

] (A) Robert J. Sternberg
(B) J.P. Guilford
(C) Noam Chomsky

(D) Lev Vygotsky




130. Which type of attention involves the
ability to pay attention to two sets of

stimuli at the same time ?
(A) Selective attention
(B) Divided attention
(C) Adapted attention.

(D) ) Bi-directed attention

131. The second MLE Workshop (2006) was

conducted for :

. A teacher makes use

7 (A) Gardner’'s m

of a variety of tasks

o cater to the different learning styles of

t
He/she is influenced

his/ her learners.
by :

ultiple intelligence
theory

(B) Vygotsky's socio-cultural theory

© Piaget’s cognitive development

theory

(D) Kohlberg's moral development

theory

. Which of the following is the first decision

that needs to be made when developing

Preparation of cu
Jo Hewso disha gom et

Ident1fyulg_t e _themes
national curriculum.

R\
(C)_) Preparation of instructional
materials in ten languages.

g
/

(D) All of the above.

132. Which of the following is not a merit of
small group learning ?

(A) The level of achievement increases
(B) It enhances the leadership quality

(C) It clears the doubts in learning
immediately

—\.{': -

»
~* learners

(A) What goes init?

(B) How and when are the entries

selected ?

/(C) What should it look like ?

(D) ~ How is tne portfolio evaluated ?

135. The content of a portfolio is largely based

(/(}?5)3’ The goal and purpose of the

portfolio

(B) The characteristics of the student
evaluated

(C) The length of the portfolio

(D) None of the above

C(f)) :i Motivation is developed among the




136. Which of the follow y

guideline for
svstem ?

()

(B)
(©)

ing is used as a

designing o grading

Create a system that is clear,

understandable and consistent with

school.

Base grades on observable data.

Assign  grades consistently
regardless of gender, class or

SOcCio-economic status.

All of the above

137. Artis a very effective medium of :

(A)

B)

©
(D)

Exposure to-social phenomenon
Self-expression and communication
Development of moral values in life

Expressing the hidden knowledge
within the child

138. Which of the following is not a merit of
learning centered approach ?

(A)
(B)

(C)
(D)

Learners find interest in learning

It fosters in learners a sense of
co-operation

Students mostly depend on teachers

Emotional problems of learners are
properly channelised

139.

(B

SET -( )

Which of the following does not refer to

Vygoltsky’s theory of the tone of proximal
development ?

(A)

(©)

(D)

The range of problem, a child can
solve if given some assistance.

- Children cognition remains limited

by pre-operational
understanding.

mode of

Children acquire cognitive structure
from cultural
ii}teractionsl

and social

Parent and teachers can foster
cognitive development.

jobnewsodisha. com

140. The concept of ‘accommodation’ in

Piaget’s development scheme implies :

(&)

(B)

.,._'\I‘

; N
/©
4 \:" . |

(D)

That these are cognitive structures.

Incorporation of something new in
‘the environment.

“Madification or change of an old

‘scheme to learn a new scheme.

Maintaining balance between child
and changing equilibrium.




141. Development of self assessment and peer
assessment skills fall into which
category ?

(A) Assessment for learning
7 (B) | Assessment as learning
7

(C) Assessment of learning

(D) All of the above

142. Which of the following is an advantage
of peer assessment ?

(A) Peer pressure and friendship can.. |

influence the reliability of grades

(B) It enhances the time and workload
 of marking for teachers

-

(C) y Students learn how to criticise,
A, f evaluate and apply other generic
skills during the process

(D) Extroverted students canbe marked
~ higher

143. Who developed a theory of motivation
called drive-reduction theory of

reinforcement ?
(A) E.L. Thorndike
(B) Kurt Lewin

(C) - Harry Harlow

144. Assessment and Examination s

{
\

(A)

(B)

/(©)

R o

(D)

hould :

Access children’s ability to recall

text-book language.
Access according to the answer

given in guidc-book.

‘Access children’s ability to use his/

"her knowledge for problem solving

and its application in the real world.

Access by fixed rules of marking

and ranking.
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146.

- 145, According to NCF-2005 the purpose of

evaluation is not : -

A

(B)
(©)

S

o

to motivate children to study under
threat

to label the children as slow learners

to identify child who requires
remediation

“all of the above

According to Erikson’s theory, industry
Vs inferiority conflict is found at which
stage ?

i\:‘ (A)\, School age

N
(B) Early childhood

©

(D)

Adolescence

Adulthood

(@“ ) Clark L. Hull



147. Authoritarian model g more

148.

149.

Suitable
for :
(A)  Discipline
(B) Confidence
(@) Achievement
(D) Improvement

150. CCE includes :

f
{

(A)
(B)

(©)

/-
"(D)'

Placement evaluation

Formative evaluation

Summative evaluation

Evaluation of both cognitive and

Co-cognitive area

jobnewsodisha.com

Which of the following characteristics is

not reflective of a cognitive view of

learning ?

(A) Changes in knowledge lead to
changes in behaviour,

(B)) The outcome of learning is an

" observable behaviour,

(C) Reinforcement is seen as
information

(D) Humans are active learners,

The chief responsibility of the

Headmaster is to :
(A) Maintain school records
(B)

Handle discipline problems

KC)/‘I; Provide leadership in instructional
— plan :

(D) Organise and administer the

——_____ 8uidance program




